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1. Write as simply as possible:

a) ata+ta [2]
Answer:
b) 2y +3z-5y+5z [2]
Answer:
c) bdxb? [1]
Answer:

3 2
d) 4c° x5¢ 2]

2C
Answer:

. Remove the brackets and write as simply as possible.
a) 5(2d-3e) [2]
Answer:
b) (8a-b)(3a+2hb) [3]
Answer:
c) 6(2x+3)-4(x-5) [2]
Answer:
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3. Work out the following and give your answers as simply as possible:

2 3
a) E+Z

Answer:

[3]

b) 32x3
2 4

Answer:

[3]

4. Solve these equations in x:

a) 6x+4=234

Answer:

[2]

b) 10—-x=6

Answer:

[2]

C) 5x-4=3x+6

Answer:

[2]
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5. Find all the possible solutions to the equations:

a) 5x=3(3x-2) [2]

Answer:

240

b) 22 =15 2]

Answer:

C) X2+2x-48=0 [3]

+ =1 [6]

Answer:

/13
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6. Solve these simultaneous equations algebraically. Show your method clearly.

3x—-2y=13
X+3y=19 [4]

Answer:

7. Write down a list of the integers which are solutions of:
-2<x<3 [2]
Answer:

8. Find all the solutions for the following equations:
a) 4n+1>10 [2]
Answer:
b) x*-1<8 [3]
Answer:
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9.

10.

Factorise the following as far as possible. Do not try to solve.

a) 6x2y+4xy? [2]
Answer:

b) 3x*-75 [2]
Answer:

c) 2y*-y-6 [2]
Answer:

d 422-12z+9 [2]
Answer:

A cuboid has dimensions X, 2x and 3x.

a) What is the volume of the cuboid in terms of x? [1]
Answer:

b) If the volume is 48 cm?, what is the value of x? [2]
Answer:

c) What is the surface area in terms of x?  Include units of measurement. [3]
Answer:

d) Using your answer to part b), calculate the surface area of the cuboid. [2]

Include units of measurement.

Answer:

/16



http://ngfl.northumberland.gov.uk/clipart/Shapes/images/cuboid_j

11. Make x the subject of each of the following formulae:

a) A=3x+1 [2]
Answer:
R
Answer:

3
o o=t [3]
Answer:

12. Find all the possible values of the following:

a) 1° Answer: [1]
b) 1212 Answer: [2]
c) 3125 Answer: [2]
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13.  What are the next two numbers in each of these sequences?
a) 2,5,10,17, .... Answer:
b) 1,1,2,3,5,8, .... Answer:
C) 1,3, 11,31, 69,... Answer:
14.  Calculate the angles A and B in the diagram. The diagram is not to scale.
The line XY passes through the centre of the circle.
The line YZ is a tangent to the circle. Angle XYZ is 28’
z
28
X A Y
M
a) Calculate the angle A. Answer:
b) Give a reason for your answer
Answer:
c) Calculate the angle B. Answer:
b) Give a reason for your answer
Answer:
15. Find the length of the side marked x in the diagram below. (Not to scale.)
Answer:
X
4
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End of examination
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